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NUMBERS .

1. What is the place value of digit 3 in the followiﬁg numbers. (4mks)
a) 3956 :
b) 9634
) 326

d) 34621 -

2. Write the total value Qf ail the digits in the number. (2mks)
84320
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The symbols 8, 3 and 2 were used to form three digit numbers. Write down

six 3 digit numbers formed. ‘ ) ~ (3mks)

¥ > ) £ )

Arrange the numbers you have written in question 3 above from the largest to

thesmallest. ' " (3mks)
Round off the followihg numbers to the nearest 10. = '7(2mks) .
a) 238 b) 580
<) 309 . d) 112
Complete the multiplicdtion. -, o (3mks)
oo oolloocoocol |0 Cc ool OO0 o O] .
cocoolloocool|jcooco|jcooo| = X =
o ‘ o (o] o
+ + + =
 List all the even numbers from 10 to 20. . (3mks)

In Kihoto village there are 875 males and 1132 females. How many people

“ arevthere in Kihoto altogether? _ : (1mk)
Subfract. ) . ‘ . . (2mks)
a) - 843 b) 9135

- 528 , - 7826

- Work out: : s ' (2mks)

a) 74 b)

o -23 . 7‘99

£
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11.

Use the following numberline to work out. - ' (1mk)

-«

0 1 2 -3 4 5 6 78 9 10 1 12 13 14

14 + 2=
12. Usethe multlphcatlon table below to get the answers. Indicate inthe = -
multiplication table : o (3mks)
cix] el 7 e '
3| 18|21 a) 6x9=
4 | 24 28 poo
5| 30] 35 b) 7x7=
6 | 36| 42 "
7 | 42| 49 c) 4x6=
13. Fill in the missing numbers to show the r‘elatlonshlp between multlpllcatlon
and division. . : . " {1mk)
78+3=26 __\_x26=78 3x =78
' MEASUREMENT
14. The distance from grade four classroom to the todet is 105 metres and
from the classroom to the field is 179 metres.
a)  Jane walked from the classroom-tc the toﬂet\and back. What . )
distance did she cover? . : — (1mk)
b)v What is the distance from the classroom to the field and back to the
_ classroom? 4 ' (lmk) .
15.  Write ‘heavier than’, ‘lighter than’ or ‘same as’. . {2mks)

a)’ —— b)

The mass of the rice is  The mass of the sugar is §

the mass of _ the mass

the potatoes. ' of the wheat flour.
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16. Work out: N e : , - (2mks)

a)  259kg + 438kg = _ b)  273kg - 245kg =
17. - The capacity of a drum was 550 litres. The drum had 236 litres of water.
How much water is needed to fill the drum?. V A L (1m>k‘)r
18. What is the time?” .~ - T NEE . (kas) :

19.  How many fifty shillings notes are in a‘fi\)e'hunvdr;ed shilling note?  (tmk) -

GEOMETRY . =

20. -Use'the diagram below to answer the following questions. (2mks)
[D] ' e
a) . Njoroge wanted to move to point D from point A. He will walk stmlght
then turn _ : to reach point D. L P
"~ b)  Chebet wanted to move from point Cto pomt A. She Wl” walk stmlght
~ thenturn » to reach point A. » ,
21. How many different shapes form the figure below. : (1mk)
" 22. g.Nameythé different shapes used inthe diagram above:~——{4mks)
23. Colour the pattern. . LAt C T (2mks)

24 - Use'ovals and triangles to form a pattern. . - I (1mk) .




